ST (3 FISHIEIL / AT
MHSH3% 31 (316 ~ ©@80)

TIEFLES /MR
IS MHSH3-16D | MHSH3-20D | MHSH3-25D | MHSH-32D | MHSH3-40D | MHSH3-50D | MHSH3-63D | MHSH3-80D
T2 mm 16 20 25 32 40 50 63 80
ik =5,
fERE /v 0.2 ~ 0.6MPa {2.0 ~ 6.1kgf/cm?} | 0.1 ~ 0.6MPa {1.0 ~ 6.1kgf/cm?}
RIS -10 ~ +60°C
EREE +0.01mm
e R e 120 c.p.m. | 60 c.p.m. | 30 c.p.m.
WEH TEE
Eh{ERI Wz

i) ﬁ%ﬁsN(kgf) WEFFEETT) 9{0.9) 21 {2.1} 36 {3.7} 62 {6.3} 97 {9.9} 155{15.8) | 280{28.6} | 400 {40.8}
éﬁg};ﬁj Bt | NERREST| 15({1.5) 26 {2.7} 45 {4.6} 77 {7.9} 118{12.0) | 187{19.1} | 329{33.5} | 490 {50.0}
ELERE mm @3H10+0.040 | g3H10 0040 | gaH10 +0.048 | o6H10 +0.048 | g10H10 +g-°58 212H10 +g-070 216H10 +g-070 220H10 +g.os4
FHEFFFIATHE mm 4 4 6 8 8 12 16 20
BEE g 90 140 220 410 570 970 1650 2920
BEOR M3 x 0.5 M5 x 0.8 %
A K B REFREY
REMEFF RS D-FONVL « D-FONL « D-FOBVL « D-F9BL » D-FOBAL

) 016 - 25 KRR HEER L = 20mm, 032 ~ 063 IR EEHEEE L = 30mm , 080 HIfRFFAEEE L = 50mm Bf 25 - RE SEEERTHZEBESRTHE

O (W) 8IS /g

RIE MHSH3-32DA MHSH3-40DA MHSH3-50DA MHSH3-63DA MHSH3-80DA
If# mm 12 20 25 32 40
BiRES =5
EHE IR {2?(52:6,0{&3/:/2?2} 0.1 ~ 0.6MPa {1.0 ~ 6.1kgf/cm2}
FERAEE -10 ~60°C
EE R 60 c.p.m. 30 c.p.m.
g AEE
eI W
FFe7F FTHE mm 5 10 15
SEEFTHE ST N
i 0.51\4Pz(1k{g5f.)1kgf/cm1 | b 45 {4.6} 130 {13.3} 204 {20.8} 335 (34.2} 524 {53.4}
BE g 530 770 1330 2300 4000
TSRS (B3h EEEE) 2SR
RIE MHSH3-32DB |  MHSH3-40DB MHSH3-50DB |  MHSH3-63DB MHSH3-80DB
FFeFF FTHE mm 5 10 15
HEFFHE ST N {kef) 6~10{0.6 ~ 1} 11~15{1.1~15} | 20~25{2.0~25} | 29~34{3.0~3.5} | 49 ~59{5.0 ~ 6.0}
BE g 500 740 1290 2250 4000
Nl | B
RO (B3h)
BTV | sMREA |
REEE RS
F = —
=1 _ | ] _L
1 \J j
]
[ L
F = il
L L

SMERIPIRTS RRRIERES
L:RiFRER

4137



<IN BF e EFL /0 HEH) 1 MHSH3ZRF)

—— 3-M4 x 0.7 8405 8
AERSTEH (BX) 6-M3 X 0.5, (% TB : -
(GRS EE-2=3 - 49
-+ . g|g olo
#ETL | (B2 016 ~ 025) < Sle ;\g
~ ol O
et i a0} [a)
o S} S}
© ~
%;
NB 8 |2, L BD BEOR P
M '%, | G (=B i)
3-93.2, BILH TS £l oSB % 4 N
P.CD.R (Z%70) Ac AD, AE
AA (mm)
] AA | AC |AD | AE | BA | BB |BC |BD |CA | CB |DC | DO |EC|EO|FX | G I J K | NA NB
MHSH3-16D | 46 | 7 [105|285| 30 [305| 34 | 27 | 7 |14 |175|195| 75| 95|12 [ 32| 4 | 10| 4 8 |5h9 3030
MHSH3-20D | 49 | 7 |12 |30 | 36 |365| 40 | 28 | 7 |14 |20 |22 |8 |10 |15 | 34| 5 | 12| 5 | 10 |6h9 Jog0
MHSH3-25D 55 | 8 |13 |34 | 42 [425| 47 | 32 | 75| 175/ 235]26.,5] 95(125] 18 | 38 | 5 | 14 | 6 | 12 |6h9 Joso
ETC) 0 P Q | R |sB]| 1B WA ZA
MHSH3-16D | 2 | M3x05| 6 | 24 | 6 5 [17H9*39* |3H1073040
MHSH3-20D 25| M5x08 | 7 | 29 | 65| 6 [21H9*3952 |3H10*5040
MHSH3-25D 3 | M5x08 | 8 | 34 | 65| 6 [26H9*3952 [4H10*5048
o 3-UA #40% UB
e o = 6-TA #4U TB
AL || (7 : 032 ~ 280} 3-p SA 7L ¥ fEir 4L 0SB #F SC cB cA
P.CD.R (Z£7) T 3-YA B2 YB
ISy
@ 2 i
RLA e Jolo
ofet | tEE
o zc
o
€ . ‘*I
- [ T
NB - 8D BEOE P
A wl Ll o RCEETN
AC]| AD AE
AA (mm)
S AA |AC |AD | AE |BA | BB |BC|BD|CA |CB|DC|DO|EC|EO|FX| G| | | J | K L M | NA| NB ¢}
MHSH3-32D | 63| 9 |155|38.5| 54 | 545 62| 36 | 95|19 [31.5/355/11.5|155| 22 [435| 6 |20 | 9 [2H9*39%°| 2 | 14 |8h9 Sos6| 4.5
MHSH3-40D | 66 | 9 |17.5/39.5| 62| 625 72| 37 |10.5/ 19 |36 |40 | 15 |19 | 26 |45 7121 ] 9 [3H9739%5| 2 | 16 |8h9 o3| 4.5
MHSH3-50D | 80 | 10 | 21| 49| 74| 745| 84| 46 |11.5| 26542 |48 | 18 |24 | 32 |555| 9 | 24 | 10 [4H9*3%%°| 2 | 18 10h9.30ss| 5
MHSH3-63D | 91| 12 | 26| 53| 92| 925/102| 50 |13 |28 |51 |59 | 23 |31 | 40 |61 | 11 | 28 | 11 [6H9 39| 3 | 24 12h9.5043| 5.5
MHSH3-80D |108 | 15 |31.5|61.5|112 [112.5/125 | 57 |14 |31 |63 |73 | 31 |41 |50 |72 | 12 | 32 | 12 [8H9*3%%| 4 | 28 [14h9 03| 6
e P Q| R|SA|sSB|SC| TA |TB UA UB| VA |VvB| WA |[wB| YA |VYB ZA | zZB | zC
MHSH3-32D |M5x0.8| 11 | 44 [42 | 8 | 7 [M4x07| 8 |[M5x0.8 | 10 [4H9*§%°| 4 [34H9*8%2| 2 [M4x0.7| 8 |6H100™| 7.4| 9
MHSH3-40D | M5x0.8| 12 | 52 | 42 | 8 7 |M4x07| 8 |[M5x0.8 | 10 |4H9*Q%0| 4 [42H9*3%2| 2 |M4x0.7| 8 [10H10°3%%11.4| 9
MHSH3-50D |M5x0.8| 14 | 63 |51 | 95| 8 |M5x0.8| 10 |[M6x1 | 12 |5H9*3%°| 5 [52H9 39| 2 |M5x0.8| 10 [12H10'°°[13.4| 10
MHSH3-63D |M5x0.8| 17 | 78 | 66 |11 | 8 | M5x0.8| 10 [M8x1.25| 16 [6H9*3%°| 6 |65HO*3%™| 2.5 |[M6x1 | 12 |16H10%°(17.4| 12
MHSH3-80D |Rc(PT)1/8| 20 | 98 | 6.6 |11 | 8 |[M6x1 |12 [M8x1.25| 16 [6H9*3%%| 6 [82H9*3%7| 3 |M6x1 | 12 [20H10'0%|21.4| 15
#LER UD x
DR (Xﬂz‘;}])l‘(ﬁﬁé:z32~ﬂ80) R ZF 2uc w|  mEpE:vsxos ce Iae
EEEA ZG 2 [CETIN)
_|® _ _lylsle
4
E_
Baa
AG
A (BB H) (mm)
ET) AF | AG | AH | BE BF BG | CC | FX uc UD | UE VA VB | ZD | ZE | ZF | ZG ZH zl | 23
MHSH3-32DA | 35 | 26 | 9 | 30 [32h9 3os [53.5]| 9.5 | 22 |M5x0.8 | 10 | 55 |4H9 "0 | 4 6| 5|20 | 15 | M3x05| 6 | 35
MHSH3-40DA | 36 | 27 | 12 | 38 [40h9 Jog, |61.5]|135| 26 |M5x0.8 | 10 | 55 [4H9 %0 | 4 8| 8| 21| 16 | M5x0.8]| 10 | 45
MHSH3-50DA | 44 | 33 | 15 | 48 |50h9 3o, |73.5|17.5| 32 |[M6x1 12 | 6.6 [5H9*%0 | 5 | 12 | 10 | 28 | 18 | M6x1 12 | 5
MHSH3-63DA | 48 | 35 | 18 | 58 |60h9 7y [91.5[20 | 40 |[M8x1.25| 16 | 8.6 |[6H9*% | 6 | 16 | 14 | 32 | 22 | M8x1.25| 16 | 7
MHSH3-80DA | 58 | 45 | 20 | 68 |70h9 o7, [1115]25 | 50 |M8x1.25| 16 | 8.6 |6H9 5% | 6 | 20 | 17 | 41 | 26 |[M10x15 | 20 | 8
AU UD
WS (8a50) | (BL7F : 032 ~ 080} suc
= B
wl O
® 43
] 1 1
AH ‘
I AF I
MHSH3-32DB, 40DB J
i (mm)
#HE AF | AG [ AH | BE BF BG | FX uc UD | UE VA VB | wC wb| zD | ZE | zF | zG ZH z | 23
MHSH3-32DB | 18 | — 9 | — [32h9 80s, | 53.5| 22 | M5x0.8 | 10 |55 [4H9*3%°| 4 | 20%%* [ 15| 6| 5 |20 | 15 | M3x05| 6 | 35
MHSH3-40DB | 21 | — |12 | — [40h9 Joe | 61.5| 26 | M5x0.8 | 10 | 55 [4H9*39%° | 4 | 24*91 [ 15| 10 | 8 | 21 [ 16 | M5x0.8 | 10 | 45
MHSH3-50DB | 30 | 19 | 15 | 48 [50n9 346 | 735 32 | M6 x 1 12 | 66 [5HO0%| 5 | 32*91 | 15| 12 | 10 | 28 | 18 | M6x1 12 | 5
MHSH3-63DB | 35 | 22 | 18 | 58 [60h9 $474 | 91.5| 40 | M8x1.25| 16 | 8.6 [6HY*3%°| 6 | 42*01 [ 2 16 | 14 | 32 | 22 | M8x1.25] 16 | 7
MHSH3-80DB | 48 | 35 | 20 | 68 [70h9 947, [111.5] 50 | M8x1.25| 16 | 8.6 [6H9 59| 6 | 5291 | 2 20 | 17 | 41 | 26 |M10x15 | 20 | 8

4.138





